
Answers to Week 12 non-Verbal Reasoning. 

 

Take it one part at a time:  

 

Step1 

  

         

                                            a           b          c          d         e 

 

Answer  b or c 

 

Step 2 

                     

                                                                                     b      c     

  

Answer  c 

 



Step 3 

Now refer back to the red box and put them, together. 

        

Answer c 

 

Q37  

Clue: the outer shape swaps with an inner shape. 

 

Answer  e 

  

 

Step 1 outer shapes of red box above 

                                                                                                    

                                                                         a          b            c          d             e  



              (small outer shape becomes big shape). 

Answer  a , c or d 

 

Step 2 (inner shapes of red  box above) 

         

            a           c        d      

    or       

                                 a                  d 

 Step 3 

Refer back to the red box, put step 1 and step 2 together, both are a or d 

Step 4 

However, in the example pair, the inner lines of the second shape go diagonal, 

so it is a. 

    

and we can see that it is a 

 



 

Tip: small outer shapes go inside the big shape. Note the change of colours.

     

39. Answer B  

 

Step 1 

     

                                               a          b          c          d          e      

eliminate c. Leaves answer a, b, d  or e. 

Step 2 

 

   

                                                       a         b           d            e      

The area to the right of white goes black. Answer e 

 


